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ót
es

e 
Id

en
t.

e
µ

π

Zona do BARRILP>20 (GeV)

" �$#�%�&'� ��� ����*^, :�/�:�& C �$<���������� 4����(?�&���2���2��3
$�=4���4+: �>4V���>UV�$?.A��/�:8��:8�6:�
$:8�S/�&���8��M
C %W��8�-��% � ?���&N�6����4�� #a� C �c4+:R_��8
$��&�:8�.4+:-GJI K M ?��8&'�-?���&1/8AB ��%�

��� �S� C C ��P
C :�<�/��9�R�0%�?�:�&1�$��&�:8�c� )�� � :�	 :5<�� ����:��3/ ��8<����
�;4�� ���8
$��&8AB$C :�/�&1�;4+� 2���&1&��3

F � K �XL'�

� _���&1�8A�8_9:�
 4�GJI84�� A: � A%V<��
���c: C �!%�: <W��8��A:-%�/1�$
$�378��4��-�(�0:�%5_���
$��& C :84��
4+�VM C ���



����) �f��? AB /�%�
3�-�����.<.A��
3�
�0:

	f��
3��&���� U��$? A��/�: �0:8�DF��6F 	f�8&����	���ZL1L
	f��&1�8A��_9:��
� 	f�8&�� C :84+�
4�� :�
$: ��/�&����� C % ���� �

 ��79��8�64�GJI 4�� )+� ) P P P
GXFZ:9� C ��L1I8K �+� ��	 �+� ��)�� ������� �+� �a)+�
� � ��� C ��� � � �+��� ��	 �+�������
GdU )+��� ������� �+� ����� �+� � 	��
GdU I8K �+� �! P P P
GdU�
 �8I8GdU �+� ��� �+� ) ��� �+� �9��� �+��)9 �
GdU�

)9I8GdU �+�3��� �����+� ����	�	 �+� ���
GdU�

�9I8GdU �+� )�� � �+� ��)�� �+�$�8 �
GdU�
$��I8GdU �+� )+� � �+������� �+����	��

�� F������ZL � �+��	�	�� �+�$� 	��
�Y

��������������������� 
@%W��8� 
 :8��/�&��3/��

� ��2�:�

� �����+*dKd&1����:8�����c4+: 4+:�/�:�& C �3<��Q�����8�D4��O< AB _9:�
�4�:D����<+���8<d����eFT% C /�&N�Q����R�$<�4��
��� < ����
%�/1�$
$�378�Q�������-4�:8����:-��&1�$/VA:�&��$��L'��� :8��/�: :�h�: C ?�
3�R�O?���&1/8AB �S%�

�OU��3?���/VA:�/��
���O/�: C C � C :�<�/�� 4+:
��� � :�	-M ���<�#�%�
$�c?���
=��& 4+:- �-#�&'�8%��X: ��8<�#�%V
$� ��7�� C %�/N��
�4+:c�
���e#�&N��%��S�

�\&N��79��8�-:�<�/�&�: �\?V&���2[��2��3
$�
4V��4+: 4��OU��3?.A��/1:8�0: 4+: C �����1� � I C % ���� : �\?V&���2[��2��3
$�
4V��4+: 4V�
U��3?.A��/1:8�0:R4+: C �������-4��e:�
3:8��/1&�����V�

� ?�&1��4+%�/1� 4����W?�&1��2��82��$
3�
4���4+:8�W4+:Y/���4V���d��� _���&1�8A�8_9:��
�SM�?���&N� % C � C :8� C �dU��$? A��/�: �0:9M
4XA�(�(����<�����<d���� �9%�:c�0:c?���4+:6/�:�&D<��6&�:8��?�:8��/��3_�� UV�$?.A��/�:8��:9�-Kd�8&'�>:SgT:��$/1�9�D4+:c�S��&�&1:8��/N�
<���& C �8
$�$7 �Q�����8� 4+: �0/�:;?V&���4+%�/1��MD: C ?���&1/��=��%�

�8&��9%���<�4��^�8
$#�% C ���c_��8&�� A��_9:��=�e<W���� �S����
��?V
$�
� A��_9:��=��Md%�/1�$
$�378� P �0: � &N��AB 7 AB <�4+�
�S:�� 4�:8����:@?�&1��4+%�/��VMJ: C �9%�:�� A:@� < A% C :�&1� 4+:
_���&1�8A��_9:��
� FH��&��3/VA:�&1�$�a�bLY:�gT:8�S/��$_�� C :�<�/�:J%[����4��9���

Kd��&N�e����4��-U��$? A��/�: �0: �-< AB _9:�
W4+:R����<+����< ����`A:R4���4+�c:�<+/�����c?���&


�� ����� �������� ������!� �
: C �9%�:���� A:R�-?�&���2���2��3
$�=4���4+: ?��8&'�c�O?���&1/8AB ��%�

�O��2�/�:�& �-_���
3��& C :84+�=4+�R4+:�<�/�&1�c4+:

#9� C ���X4�:\_��8
$��&1:8�X?���&N�e�-_���&�� A��_9:�
#"�M+&1:�

�8/��3_��-�-:8�1���OU��3?.A��/1:8�0:9�
� /N��2�:�

�.����� C �a�0/�&N� ?[��&'�.% C �X?���&1/8AB �S%�

�XU��$?���/�A:�/1�
���X� ?V&�����:8�1�0� 4�:X4+:�/1:�& C �$<����������

4+�a� ��:�%��J< AB _9:��
�f4+:R����<+�Q��<d����-?��8&'�c���XU��$?.A��/�:8��:8�.4+: :�
$:8�S/�&���8��M C %W��8�O��% �d�

Kd��&N�`����4�� &1:�#��H����`#�:�� C A:�/1&��
��� : ����<�4+�1������� 4+: C � C :�<�/��`FT�$<+gT:�&1�$��&6��% �0%�?�:�&1�$��&
� � �.:
	OLNM � ��� C ?��8&'�Q������� 4+�a�O< AB _9:��=�O4+: ����<+�Q��<d����;��2V/��
4��9�c4+:(4���4+�9�6��� C %�

��4+�9�SM
����&�&�: �0?���<�4�:�<+/1:8� ���� /�& �:8� U��3?.A��/1:8�0:8�SMQ?�:�& C �$/1:R4+:�/�:�& C �3<���&f�6_���
$��& A��?V/�� C �64+�a� < AB _9:��
�



���������	��

��������������������� �����

�\:�h+�3#��$& ?���&N� C �8h+� C �$7���& �\&1:�

��������� :����S� �:�<��S�
�!I ����<�/'� C �$<[�Q�����8�D?���&N�O����4��\UV�$?.A��/�:8��:9� �
_���
3��&f4+:X�$<�gT��& C �Q�����8� <�%�

� ����&1&�:8��?Q��<�4+:�<�/�:.� ���������+M9<W��8�-����<��0/1�$/�%V�+% C 
$� C �$/1:d�$<+gT:�&��$��&�M
?����=� �a�e_9:�/1�9�6����&�&1:8�0?���<[4+: C �0: C ?�&�:5� < AB _9:��
�-4+: �S��<+���8<d���� <�%�
$�a� �D�
��/�� A:aM < ���� A:
<�:8�S:8���VA��&��3�O&1: ] :��$/N��& C %W���:8� ��� C < AB _9:��
�Y4+: ����<+����< ����O:�<�/�&�: �+� )\: �+� �+M+?���&X:�h+: C ?�
$�VM���:
� C �8�$��&1�
�R4+�9�X:�
$: ��/�&����:8�Y:O4��9� �>gT��&�: C _9:�/'��4+�9�S�YK ��&X:�h+: C ?�
$�VM!% C C % ���� �9%�:D&N��4+�3:
?�:�&�/1�(4�� � K �.M�/�: C % C �-?�&1��2��82��$
3�
4���4+:-2����3h��c?���&N�>�cU��$?.A��/�:8��: C % ����c?�&��8_9:�<��3:�<�/�:
4+:5GJI8K MY4���4+� /�:�&R:�_9:�<�/�%��8
 C :�<�/�:c�����������
��4+� % C 4�:�?.A�9���$/1� 4+:(:�<�:�&1#��
�@� C ?���&1/'��<�/�:
<��c���8
$��&8AB$C :�/�&1� 4+�-2��8&�&��3
dFT:D?�&���2���2V�$
$�=4���4�: �0%�?�:�&1�$��&.4+: �0:�& �@��%(:�
3:8��/1&�����VM�����<+gT��& C :
�>#a� C �9L'� � ��:�% < AB _9:�
Y4+:(�S��<+���8<d���� A:6% C <DA% C :�&��52����3h+�V� �Y��<�/�%�4���MY�0: 4+:��$h���% �
��% C �8�
�J?���<�/��a� C :84��
4+�a�J<���� ���� C ��&N���D4+: C %W���:8��M�<W����(?���4+: �0:�& :�
$:8�S/�&���8�@FT< AB _9:�
 4+:
����<+����< ����`A: <�%�
$��LY:R4+�����S�$
 C :�<+/�:X?���4+:c��:�& � FT< AB _9:�
 4�:O�S��<+���8<d����-�$<+gT:�&��$��&X�c�+� ���!LN�

G C ��:�&1/��9�R�������9�SM C : � C �6_��8
$��&1:8�O2��8�$h��9�-4+:(< AB _9:��
� 4+:(�S��<+���8<d����;?���4+: C :8��/'�8&
���1�0�����=��4+�a�O�6�
4�:�<+/1�������Q�����8�6?��9�0�3/��3_��6?��8&'�5� UV�$?.A��/�:8��:-&�:8��?Q: ��/��3_���M ?�:�& C �$/��3<�4+� ���1�0� C
:8��/�: C A:�/1��4+�c�O&�:8�S%�?�:�&'��������� 4+:R�������9� �!%V:\&1:8�0/N��&1�
� C � C 2 AB #�%��9�S�

� ��#�%�&'�-��� ��	 C �a�0/�&N�\?��8&'�O% C �������(F ���<V#�%�
3�-?Q��

�8&.��� C ?V&�:�:�<[4+�
4+� :�<�/�&1:
���O: �! 
#�&N��%��SM C � C :�<+/1�c�0%�?�:�&1�$��&-� � �.:
	OL ���O4��
�0/1&��32�%���������:8� 4+�a�\< AB _9:��
�.4+: ����<+�Q��<d����;4V�
U��3?.A��/1:8�0: :�
3:8��/�&�����-?��8&'�-�9�X4���4+�9� �0� C %�
=��4+�a���

Kd��&N������<[�0�
4�:�&'�8&;% C � ?���&1/8AB ��%�

� ��� C �^:�
3:8��/�&�����VM C %W����`��% �dM\/1: C �9%�:`��: /�:�&
% C < AB _9:�
R4+: ����<+����< ���� ?[��&'� ��U��$?.A��/�:8��:`: C ����%��1� ��%�?�:�&��3��& ���9�;�$<[4+�
����4+�9�@<[���
/'�82�:�

���>���3����MD?���&N� % C � ��

�����0� ������������� &�:8��/�&��3/'��MD����<+gT��& C :;�`&�:8��?Q: ��/��3_9� C � C :�<�/��
: ���<�#�%�
$�R?Q��

�8&�� 
@:8� C �
�9%�:X�O< AB _9:�
V4+:D�S��<+���8<d���� 4+: 4+%���� U��3?.A��/1:8�0:8�Y��: ] �D<+%�
3�cFZ?��8&'�
� C 2����bL'Md� < AB _9:�
f4+:5����<+�Q��<d����;4V� /1:�&'��:��$&'�(U��$? A��/�: �0:6/1:�&�A�;4+:5��%�?�:�&'�8&e:8��/�:8�O
3� C �3/�:8�
C AB <�� C �9�d?��8&'�-?Q��4�:�& �0:�&.��

�����0� ������4��O<�:8�1���c����/1:�#���&��
���

� /N��2�:�

�-���3��� C �9�0/1&'�O�a� _���
$��&�:8� C AB <�� C �9�Y: �!%V�$_���
3:�<+/1:8� ?[��&'�c% C �-��
=�������������Q�����8�
�0%[� _9:R��� C �O:�
$:8��/1&���8��M C %W��8�-��% �d�

�D�D:������ �:�<����=���D4�:e�=4+:�<�/����Q���Q�����8�(?���&N�>�9� _XA�8&��3�9� ����<[���
� :6� C �9��/�&N���O4�:6������<�/�:8�S��P
C :�<�/��a�-�0� C %�
=��4+�a�e�S� C % C �;�VA� ?[��&�/ AB ��%V

� ����&1&�:�#a��4��^FT:�
$: ��/�&����:8�SM C % ���:8�O: � L-�S����
C �a�0/�&N��4����-4+:(��:�#�%��=4��+Md: ?Q�a�0/1:�&��3��& C :�<+/1:c��� C : � C ��� :������ �:�<����=���D:(����<+/N� C �3<��Q������:8�
?��8&'�c���.� C �a�0/�&N���X4+:R4���4+�9�.&�:8�8�
�J:�<�&1� �9%�:8���=4����Y?���&N�e��� /1& �:8�JUV�$?.A��/�:8��:8���

G ����� �:�<����=���J4�:\�=4+:�<�/�� �����Q�������

� ��#�%�&'�O�V���! C �9�0/1&'�R��� :S����� �:�<����
���Y4+:D�
4�:�<+/1�������Q�����8�O4�:D:�
$: ��/�&����:8�XFZ/1��?��+LNM C % ���:8�
F C :��$��LW: � FZ2��8�$h��+L ?��8&'�-4���4+�9�f�0� C %�
=��4+�a��M9?���&N� C � C :�<�/��a� �3<+gT:�&��3��&1:8�d��%(��%�?�:�&��3��&�: �
�
���.:
	-M�:.: C gT%�<d�����8�O4V��� &1:�#��H���:8�Y�8<�#�%�
=��&1:8�XF � P )�����M�)�� P ������M+��� PH������M9����P ������M ��� P �! ��
: �! SP ������L'� � ��4����D���J:S����� �:�<����
���J����&�&1:8�0?���<[4+: C �O% C �-��
=���1�0���Q���Q�����8�-&�:8��/�&1�$/'���



���S� �f��? AB /�%�
3�-�����.<.A��
3�
�0:

Acontecimentos / 0.05

Electrões Simulados

P>5 GeV, 55o<Θ90<87o

Muões Simulados

P>5 GeV, 55o<Θ90<87o

P>5 GeV, 55o<Θ90<87o

π Simulados

P>5 GeV, 55o<Θ90<87o

Nı́vel de Confiança

Nı́vel de Confiança

Nı́vel de Confiança

" �$#�%�&'�;��� ��	+* �-AB _9:��
�R4+:;�S��<+���8<d���� ?[��&'� � U��3?.A��/1:8�0:5:�
$: ��/�&������MY?��8&'� 4���4+�9�
�0� C %�
=��4+�a�>FT/���?����^:�
$:8��/1&����:8��M C :��=� P ��
3/�%�&N��� C %W���:8�e:;: C 2����3h+��� � L'M.:
?���&N�e�6�����0� C � C :�<+/1�9�J��%�?�:�&��3��&1:8�D��� �.:
	-M�: ��8<�#�%�
3�6?���
=��&-F C ��4+%�
3� ���!L
��� C ?V&�:�:�<[4+�
4+� :�<�/�&1:
���-: �! R#�&N��%��S�



���������	��

��������������������� ��� �

���������	��
�
�
��� ��&�:8��/�&��3/'� �� <�#�%V
$�c?Q��

�8&OFT#�&'�8%��bL

@� C :�<�/�� )�� P ��� ��� PH��� ����P ��� ��� P �! �! SP ���
� ���.:
	 ������) �+� ��	 ��� � �+� � � ������	
� � �.:
	 ��� � �+� ��	 ����� ��� � �������

����
�
�
��� ��&�:8��/�&��3/'� �� <�#�%V
$�c?Q��

�8&OFT#�&'�8%��bL

@� C :�<�/�� )�� P ��� ��� PH��� ����P ��� ��� P �! �! SP ���
� ���.:
	 �����8� �+� ��� ������� �+� ��� �����8�
� � �.:
	 �����9 �+� ��	 ��� �9) �+� ��	 �������

�

��� ��&�:8��/�&��3/'� �� <�#�%V
$�c?Q��

�8&OFT#�&'�8%��bL

@� C :�<�/�� )�� P ��� ��� PH��� ����P ��� ��� P �! �! SP ���
� ���.:
	 ������� �+� � � ��� � � �+� � � ��� � �
� � �.:
	 �����9 �+� ��� ������� ����� �������

� ��2�:�

�O�V�$���+*��-AB _9:��
�d4�: ����<�����<d���� C AB <�� C �a� ?��8&'�-�\�=4+:�<�/�� �����Q������� : C :�
$:8�S/�&���8��M C %W����
��% � F ��
=���1�0���Q���Q�����8�e&1:8�0/1&��3/'�!LN�

���������	��
�
�
��� ���0%���_9: �� <V#�%�
3�-?Q��

�8&OFT#�&'�8%��bL

@� C :�<�/�� )�� P ��� ����P � � ����P ��� ��� P �! �! �P����
� ���.:
	 ����� �+� ��) ����)�	 �+��)�	 ������)
� � �.:
	 �+� ��	 �+� ��) ������	 �+����	 ������)

����
�
�
��� ���0%���_9: �� <V#�%�
3�-?Q��

�8&OFT#�&'�8%��bL

@� C :�<�/�� )�� P ��� ����P � � ����P ��� ��� P �! �! �P����
� ���.:
	 �+� ��) �+� ��) ����)+� �+��)�� ����)9 
� � �.:
	 �+� ��) �+� )�� ������� �+���9 �+���

�

��� ���0%���_9: �� <V#�%�
3�-?Q��

�8&OFT#�&'�8%��bL

@� C :�<�/�� )�� P ��� ����P � � ����P ��� ��� P �! �! �P����
� ���.:
	 �+� ��� �+��� ������) �+� � �������
� � �.:
	 �+� ��� �+��� ������) �+��)�	 �����8�

� ��2�:�

�O�V�$����*��-AB _9:��
�d4�: ����<�����<d���� C AB <�� C �a� ?��8&'�-�\�=4+:�<�/�� �����Q������� : C :�
$:8�S/�&���8��M C %W����
��% � F ��
=���1�0���Q���Q�����8�6��%���_9:�L'�



��� 	 �f��? AB /�%�
3�-�����.<.A��
3�
�0:
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Ângulo Polar (Θ, em graus)
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Ângulo Polar (Θ, em graus)
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